Part No.: 2444 .7125.1 Front bumper

Brand: Yamaha

Model: Grizzly 700 / Kodiak 700
Year: 2015-

Material: Tube 38x1,5 mm

1 BUMPEl s 1 pe.
2. Brackob souvanmniniisvisig 2 pcC
3: Clamb sy 2 pc
4. Bracketf.......cooovviviiiiiiiinn. 2 DC.
9. CHENE. s 2 pcC.
6. Bolt M8X20.........ccvvieeeenanne, 4 pc.
7. Bolt M10X16.....cccvveeneennne, 2 pC.
8. Washer8.......coevvvinivininnnnnn. 4 pc.
9. WESHETF 1D s 2 pcC.
10 Plashe plugs-seasvusnnssssas 2 pe.

1. Screw original bolts out of front part of cargo tray. Place RIVAL front bumper. Fix upper TOOLS REQUIRED
end of bumper through apertures of cargo tray with original bolts.

2. Fix lower end of bumper to brackets no.2 (no.4) with bolts M10 no.7, washers no.9. Fix to
original tube with clamps no.3 (no.5), bolts M8x20 no.6, washers no.8 (Use brackets no.2,
clamps no.3 for Yamaha Grizzly, use brackets no.4, clamps no.5 for Yamaha Kodiak).

Mount plastic plugs.
3. Tighten all screws. SCREW FORCE

@ M6-10 Nm @ M8-30 Nm @mo-so Nm



